Categories and General Algebraic Structures with Applications Volume 13, Number 1, July 2020, 143-166.



Tense like equality algebras

Mohammad Ali Hashemi and Rajab Ali Borzooei*

Abstract. In this paper, first we define the notion of involutive operator on bounded involutive equality algebras and by using it, we introduce a new class of equality algebras that we called it a tense like equality algebra. Then we investigate some properties of tense like equality algebra. For two involutive bounded equality algebras and an equality homomorphism between them, we prove that the tense like equality algebra structure can be transfer by this equality homomorphism. Specially, by using a bounded involutive equality algebra and quotient structure of it, we construct a quotient tense like equality algebra. Finally, we investigate the relation between tense like equality algebras and tense MV-algebras.

1 Introduction and preliminaries

As a generalization of EQ-algebras defined in [16], Jenei introduced a new class of logical algebras in [13] and called it equality algebras, where the product operation in EQ-algebras is replaced by another binary operation smaller or equal to the original product. An equality algebra consists of two binary operations meet, equivalence and constant 1. Relations of equality algebras with the other logical algebras are studied in many works [1, 2, 10,

^{*} Corresponding author

Keywords: Equality algebra, tense like equality algebra, MV-algebra.

Mathematics Subject Classification [2010]: 03G25, 06D35, 08A35.

Received: 23 April 2019, Accepted: 11 December 2019.

ISSN: Print 2345-5853, Online 2345-5861.

[©] Shahid Beheshti University

11, 17, 18]. In [10, 11, 14] the authors proved that any equality algebra has a corresponding BCK-meet-semilattice and any BCK-meet-semilattice with distributivity property has a corresponding equality algebra. In [17] the authors have proved that there are relations between the equality algebras and some of other logical algebras, such as residuated lattice, MTL-algebra, BL-algebra, MV-algebra, Hertz-algebra, Heyting-algebra, Boolean-algebra, EQ-algebra, and Hoop. Moisil introduced the *n*-valued Lukasiewicz-Moisil algebras in [15]. After him, Chang defined the MV-algebras as algebraic structures for the infinite valued Łukasiewicz propositional calculus in [7]. The propositional calculus by adding two unary operators G, H which are called tense operators and the derived operators $F := G^-$ and $P := G^ H^{-}$, where "-" denotes the classical negation connective is called tense logic, for more details we refer to [5]. Tense operators for MV-algebras and Łukasiewicz-Moisil algebras were introduced in [12] and studied in [4, 8]. Tense operators in lattice effect algebras were introduced in [6]. Tense operators are in certain sense quantifiers which quantify the time dimension of the logic under consideration. The semantical interpretation of these tense operators G and H is as follows. Consider a pair (T, \leq) , where T is a non-void set and \leq is a partial order on T. Let $x \in T$ and f(x) be a formula of a given logical calculus. We say that G(f(t)) is valid if for any $s \geq t$ the formula f(s) is valid. Analogously, H(f(t)) is valid if f(s) is valid for each $s \leq t$. Thus the unary operators G and H constitute an algebraic counterpart of the tense operations "it is always going to be the case that" and "it has always been the case that", respectively." This concept was generalized for the so-called basic algebras in [3], where the authors have related the basic algebras with tense operators to the quantum structures which are the so-called dynamic effect algebras. Operators such as state and equality homomorphism on equality algebras are studied in [11, 18]. In Section 3, we define two unary operators that we call them tense like operators and tense like equality algebras. We study on these new algebras and their properties. The last section deals with relations of the tense like equality algebras with tense MV-algebras and vice versa.

2 Preliminaries

In this section, we give the basic definitions and results related to equality algebras and MV-algebras which we will use in the next sections. Also, we prove some properties of equality algebras.

Definition 2.1. [13] An equality algebra $\mathcal{E} = \langle X, \sim, \wedge, 1 \rangle$ is an algebra of type (2, 2, 0) such that the following axioms are fulfilled, for all $x, y, z \in X$: (E1) $\langle X, \wedge, 1 \rangle$ is a \wedge -semilattice with the top element 1, (E2) $x \sim y = y \sim x$, (E3) $x \sim x = 1$, (E4) $x \sim 1 = x$, (E5) $x \leq y \leq z$ implies $x \sim z \leq y \sim z$ and $x \sim z \leq x \sim y$, (E6) $x \sim y \leq (x \wedge z) \sim (y \wedge z)$, (E7) $x \sim y \leq (x \sim z) \sim (y \sim z)$.

The operation \wedge is called *meet* (infimum) and \sim is an *equality operation*. We write $x \leq y$ if and only if $x \wedge y = x$, as usual. Define the following two derived operations, the *implication* and the *equivalence operation* of the equality algebra $\langle X, \sim, \wedge, 1 \rangle$ as follows,

$$x \to y = x \sim (x \land y)$$
 and $x \leftrightarrow y = (x \to y) \land (y \to x)$

Proposition 2.2. [13]Let $\mathcal{E} = \langle X, \sim, \wedge, 1 \rangle$ be an equality algebra. Then the following statements hold, for all $x, y, z \in X$:

(i) $x \sim y \leq x \leftrightarrow y \leq x \rightarrow y$, (ii) $x \leq (x \sim y) \sim y$, (iii) $x \sim y = 1$ if and only if x = y, (iv) $x \rightarrow y = 1$ if and only if $x \leq y$, (v) $x \rightarrow y = 1$ and $y \rightarrow x = 1$ imply x = y, (vi) $1 \rightarrow x = x$, $x \rightarrow 1 = 1$ and $x \rightarrow x = 1$, (vii) $x \leq y \rightarrow x$, (viii) $y \leq x$ implies $x \leftrightarrow y = x \rightarrow y = x \sim y$.

Proposition 2.3. [11]In any equality algebra $\mathcal{E} = \langle X, \sim, \wedge, 1 \rangle$ the following statements hold, for all $x, y \in X$:

- (i) $y \leq x \sim (x \wedge y)$,
- (ii) if $x \leq y$, then $x \leq x \sim y$,

(iii) $x \sim y \leq x \sim (x \wedge y),$ (iv) $x \leq (x \sim (x \wedge y)) \sim y,$ (v) $x \rightarrow y = x \rightarrow (x \wedge y),$ (vi) $x \rightarrow y \leq (z \wedge x) \rightarrow (y \wedge z).$

Definition 2.4. [17] Let $\mathcal{E} = \langle X, \sim, \wedge, 1 \rangle$ be an equality algebra. Then it is called *commutative* if, for any $x, y \in X$,

$$(x \to y) \to y = (y \to x) \to x.$$

At last we bring the definition and some useful properties of MV-algebras from [12].

Definition 2.5. [12] An MV-algebra $\langle X, \oplus, -, 0 \rangle$ is a set X equipped with a binary operation \oplus , a unary operation -, and a distinguished constant 0 that, for any $x, y, z \in X$, satisfying

 $\begin{array}{ll} (\mathrm{MV1}) & x \oplus (y \oplus z) = (x \oplus y) \oplus z, \\ (\mathrm{MV2}) & x \oplus y = y \oplus x, \\ (\mathrm{MV3}) & x \oplus 0 = x, \\ (\mathrm{MV4}) & x^{--} = x, \\ (\mathrm{MV5}) & x \oplus 0^{-} = 0^{-}, \\ (\mathrm{MV6}) & (x^{-} \oplus y)^{-} \oplus y = (y^{-} \oplus x)^{-} \oplus x. \end{array}$

Let X be an MV-algebra such that $1 = 0^-$. For any $x, y \in X$, define the operations \ominus and \odot on X by

$$x \odot y = (x^- \oplus y^-)^-$$
 and $x \ominus y = x \odot y^-$. (2.1)

Now, we define a partial order \leq on MV-algebra $\langle X, \oplus, -, 0 \rangle$ by $x \leq y$ if and only if $x^- \oplus y = 1$, for any $x, y \in X$.

Lemma 2.6. [9]Let $\langle X, \oplus, -, 0 \rangle$ be an MV-algebra and \leq be the natural order. Then, for any $x, y, z \in X$, the following statements hold:

(i) $1^- = 0$, (ii) $x \oplus x^- = 1$, (iii) $x \wedge y = x \odot (x^- \oplus y)$ is a meet on $\langle X, \oplus, -, 0 \rangle$, (iv) $x \oplus (y \wedge z) = (x \oplus y) \wedge (x \oplus z)$, (v) $x \leq y$ if and only if $y^- \leq x^-$, (vi) if $x \leq y$, then $x \oplus z \leq y \oplus z$ and $x \odot z \leq y \odot z$.

3 Tense like equality algebras

In this section, we introduce an operator on involutive equality algebras which we call tense like operator. Some essential properties of tense like operators and some examples are given. Then, using it we introduce a new class of equality algebras which we called it a tense like equality algebra.

An equality algebra $\mathcal{E} = \langle X, \sim, \wedge, 1 \rangle$ is called *bounded* if there exists an element $0 \in X$ such that $x \ge 0$, for all $x \in X$. In a bounded equality algebra \mathcal{E} , the *negation* on \mathcal{E} is a map $': X \to X$ defined by $x' = x \to 0 = x \sim 0$, for all $x \in X$. If (x')' = x, for all $x \in X$, then $\mathcal{E} = \langle X, \sim, \wedge, 1 \rangle$ is called *involutive*. Some results related to involutive equality algebras are obtained in [17]. We say that, for any $x, y \in X$, the negation "" on \mathcal{E} satisfies

if
$$x \le y$$
, then $y' \le x'$ (N).

A map $F: X \to X$ is called *increasing* (*decreasing*), if, $x \leq y$, then $F(x) \leq F(y)$ ($F(y) \leq F(x)$).

Definition 3.1. Let $\mathcal{E} = \langle X, \sim, \wedge, 0, 1 \rangle$ be a bounded involutive equality algebra and $G : X \to X$ be a map. We call G an *involutive operator* if G(x') = G(x)', for all $x \in X$.

Example 3.2. (i) Let $\mathcal{E} = \langle X, \sim, \wedge, 1 \rangle$ be a linearly ordered equality algebra and G be an identity map on X. Then G is an involutive and increasing operator.

(ii) Let $X = \{0, a, b, 1\}$ be a set such that 0 < a < b < 1. Then, for any $x, y \in X$, define the operations \wedge and \sim on X by

$$x \wedge y = \min\{x, y\} \text{ and } \begin{array}{c|cccc} \sim & 0 & a & b & 1 \\ \hline 0 & 1 & b & a & 0 \\ a & b & 1 & a & a \\ b & a & a & 1 & b \\ 1 & 0 & a & b & 1 \end{array}$$

Then, by routine calculations, we can see that $\mathcal{E} = \langle X, \sim, \wedge, 1 \rangle$ is an equality algebra. Now, define $G_1, G_2 : X \to X$ by

Thus, it is easy to see that G_i $(1 \le i \le 2)$ is an involutive and increasing operator on X.

(iii) Let $X = \{0, a, b, c, d, 1\}$ be a set such that 0 < a < b < c < d < 1. Then, for any $x, y \in X$, define the operations \wedge and \sim on X by

		\sim	0	a	b	c	d	1
		0	1	d	c	b	a	0
		a	d	1	a	d	c	a
$x \wedge y = \min\{x, y\}$	and	b	c	a	1	0	d	b
		c	b	d	0	1	a	c
		d	a	c	d	a	1	d
		1	0	a	b	c	d	1

By routine calculations, we can see that $\mathcal{E} = \langle X, \sim, \wedge, 1 \rangle$ is an equality algebra. Now, for $1 \leq i \leq 4$, define $G_i : X \to X$ as

x	0	a	b	c	d	1
$G_1(x)$	0	d	c	b	d	1
$G_2(x)$	0	c	d	a	b	1
$G_3(x)$	0	b	a	d	c	1
$G_4(x)$	0	a	b	c	d	1

Then, it is clear that G_i $(1 \le i \le 4)$ is an involutive operator on X.

(iv) Let X = [0, 1] and $\mathcal{E} = \langle X, \sim, \wedge, 1 \rangle$ be an equality algebra, where $x \sim y = 1 - |x - y|$ and $x \wedge y = \min\{x, y\}$, for any $x, y \in X$. It is easy to see that \mathcal{E} is an ivolutive equality algebra. Define $G : X \to X$ by G(x) = |1 - |1 - 3x||, for any $x \in X$. Then G is an involutive and decreasing operator.

Let $\mathcal{E} = \langle X, \sim, \wedge, 0, 1 \rangle$ be a bounded involutive equality algebra and $G: X \to X$ be an involutive operator on X, we define the kernel of G as

$$\ker G = \{ x \in X : \ G(x) = 1 \}$$

Example 3.3. [18] Let $X = \{0, c, a, b, 1\}$ be a lattice with the diagram as

0 b 1 b 1 caca1 0 0 0 0 0 1 1 1 1 1 $c \mid 0$ 1 1 1 1 $a \mid 0$ b1 b 1 b0 aab1 0 0 1 1 b 1 ca•0

given below. Define the operations \sim and \rightarrow on X by

Then $\mathcal{E} = \langle X, \sim, \wedge, 1 \rangle$ is an equality algebra. Now, define $G_i : X \to X$, i = 1, 2, 3, by

x	0	c	a	b	1
$G_1(x)$	0	1	c	1	1
$G_2(x)$	0	1	a	1	1
$G_3(x)$	0	1	b	1	1

Then G_i 's are involutive operators on X.

Remark 1. Let $\mathcal{E} = \langle X, \sim, \wedge, 0, 1 \rangle$ be a bounded involutive equality algebra and $G : X \to X$ be an involutive operator. Then ker G is not equality subalgebra of X, in general. For example in the above example, $c, b \in \ker G_1$ but $G_1(c \sim b) \neq 1$. Therefore, $c \sim b \notin \ker G_1$.

But if we assume that $G(x \sim y) = G(x) \sim G(y)$ for all $x, y \in X$, then $x \sim y \in \ker G$, whenever $x, y \in \ker G$. Since $1 \in \ker G$, $\ker G$ is an equality subalgebra of $\mathcal{E} = \langle X, \sim, \wedge, 1 \rangle$.

Definition 3.4. Let $\mathcal{E} = \langle X, \sim, \wedge, 0, 1 \rangle$ be a bounded involutive equality algebra. A *tense like equality algebra* is a tripled (\mathcal{E}, G, H) , where $G, H : X \to X$ are unary operators on X and G is an involutive operator on X and for any $x, y \in X$, the following hold:

 $\begin{array}{ll} (\mathrm{T0}) & G(1) = 1 \text{ and } H(1) = 1, \\ (\mathrm{T1}) & G(x \to y) \geq G(x) \to G(y) \text{ and } H(x \to y) \geq H(x) \to H(y), \\ (\mathrm{T2}) & G(x \sim y) \leq G(x) \sim G(y) \text{ and } H(x \sim y) \leq H(x) \sim H(y), \\ (\mathrm{T3}) & G(x) \wedge G(y) = G(x \wedge y) \text{ and } H(x) \wedge H(y) = H(x \wedge y), \\ (\mathrm{T4}) & x \leq H(G(x)). \end{array}$

Example 3.5. (i) Let $\mathcal{E} = \langle X, \sim, \wedge, 1 \rangle$ be a linearly ordered equality algebra and G = H be identity maps on X. Then (\mathcal{E}, G, H) is a tense like equality algebra.

(ii) Let $\mathcal{E} = \langle X, \sim, \wedge, 1 \rangle$ be an equality algebra and $G_1 : X \to X$ be an involutive and increasing operator on X as Example 3.2(ii). If we define the map $H : X \to X$ by

then (\mathcal{E}, G_1, H) is a tense like equality algebra. Also, ker G_1 and ker H are subalgebras of $\mathcal{E} = \langle X, \sim, \wedge, 1 \rangle$, where

$$\ker G_1 = \{b, 1\} = \ker H$$

(iii) Let $X = \{0, c, a, b, 1\}$ be an equality algebra as Example 3.3. Now, define the map $G: X \to X$ by

Then by routine calculations, we can see that G is an involutive operator and satisfies in the axioms (T0)-(T3). If we take H = G, then, clearly the axiom (T4) holds. Hence, (\mathcal{E}, G, H) is a tense like equality algebra.

Now, we give some properties of tense like equality algebras.

Proposition 3.6. Let $\mathcal{E} = \langle X, \sim, \wedge, 1 \rangle$ be an involutive equality algebra. Then, for any $x, y \in X$, the following statements hold:

(i) If $G(x) \leq G(y)$, then $G(x \to y) = 1$. Moreover, if G is an injective, then $x \leq y$ if and only if $G(x) \leq G(y)$.

(ii) $H((x \sim y)') = H(x \sim y) \rightarrow H(0).$

(iii) if the negation "'" satisfies condition (N), then $H(G(x'))' \leq x$.

(iv) $H(G(x) \sim G(y)) \leq x \rightarrow HG(y)$ and $H(G(x) \sim G(y)) \leq y \rightarrow HG(x)$.

(v) $H(G(x) \to G(y)) \ge HG(x) \sim HG(y)$ and $H(G(x) \to G(y)) \ge HG(y)$.

(vi) If $x \in \ker G$, then

 $G(x \to y) \ge G(y), G(y \to x) \ge G(y), G(x \sim y) \le G(y), G(x \wedge y) = G(y).$

Moreover, if $x \leq y$, then $G(x \sim y) = G(y)$.

Proof. (i) If $G(x) \leq G(y)$ then, by Proposition 2.2(iv), we have $G(x) \rightarrow G(y) = 1$. Thus, by (T1), $G(x \rightarrow y) = 1$. If G is injective, then $x \rightarrow y = 1$, and so $x \leq y$. The proof of the converse is clear. Now, assume that $x \leq y$. Then, by Proposition 2.2(viii), we have $x \sim y = x \rightarrow y$. Hence, by (T2) and Proposition 2.2(iii), the proof is clear.

(ii) Let $x, y \in X$. Then

$$H((x \sim y)') = H(x \sim y \to 0) , \text{ by (T1)}$$

$$\geq H(x \sim y) \to H(0) , \text{ by Proposition 2.2(i)}$$

$$\geq H(x \sim y) \sim H(0) , \text{ by (T2)}$$

$$\geq H((x \sim y) \sim 0))$$

$$= H((x \sim y)').$$

Hence, $H((x \sim y)') = H(x \sim y) \rightarrow H(0)$.

(iii) From (T4), we have $x' \leq H(G(x'))$, for every $x' \in X$. Since condition (N) holds, the proof is clear.

(iv) By Proposition 2.2(i), $x \sim y \leq x \rightarrow y$ and, by Proposition 2.3(v) and (vi), for any $x, y, z \in X$,

$$x \to (x \wedge y) = x \to y \ , \ x \to y \leq (x \wedge z) \to (y \wedge z).$$

By these facts and (T2), we have

$$\begin{array}{rcl} H(G(x) \sim G(y)) &\leq & HG(x) \sim HG(y), \text{ by Proposition 2.2(i)} \\ &\leq & HG(x) \rightarrow HG(y), \text{ by Proposition 2.3(vi)} \\ &\leq & (HG(x) \wedge x) \rightarrow (x \wedge HG(y)), & \text{ by (T4)} \\ &= & x \rightarrow (x \wedge HG(y)), \text{ by Proposition 2.3(v)} \\ &= & x \rightarrow HG(y). \end{array}$$

(v) By (T1) and Proposition 2.2(i), for any $x, y \in X$ we have,

$$H(G(x) \to G(y)) \ge HG(x) \sim HG(y).$$

Again, by the axiom (T1) and Proposition 2.2(vii), for any $x, y \in X$ we have $H(G(x) \to G(y)) \ge HG(y)$.

(vi) Let $x \in \ker G$. Then by (T1), (T2) and Proposition 2.2(vi), for all $y \in X$,

$$G(x \to y) \ge G(x) \to G(y) = 1 \to G(y) = G(y). \tag{3.1}$$

Again, by (T1), (T2), and Proposition 2.2(vi), for all $y \in X$,

$$G(y \to x) \ge G(y) \to G(x) = G(y) \to 1 = 1.$$

Then $G(y \to x) = 1$, for all $y \in X$. Hence, $G(x \to y) \ge G(y)$, for any $y \in X$. By (T2) and (E4) we have,

$$G(x \sim y) \le G(x) \sim G(y) = 1 \sim G(y) = G(y) \tag{3.2}$$

for all $y \in X$. By (T3), we have,

$$G(x \land y) = G(x) \land G(y) = 1 \land G(y) = G(y)$$

for any $y \in X$. If $x \leq y$, then $x \to y = x \sim y$. Thus, by (3.2) and (3.1), for any $y \in X$, we get that,

$$G(x \sim y) \le G(y) \le G(x \to y) = G(x \sim y).$$

Hence, $G(x \sim y) = G(y)$, for any $x, y \in X$.

Remark 2. The obtained results in the implications (i) and (vi) of Proposition 3.6, hold for H, too.

Proposition 3.7. [17]Let $\mathcal{E} = \langle X, \sim, \wedge, 0, 1 \rangle$ be a bounded lattice equality algebra with the negation "′". Then the following properties hold, for all $x, y \in X$,

(i) (x ∨ y)' = x' ∧ y',
(ii) x ≤ (x')',
(iii) x → y ≤ y' → x', and if X is involutive, then x → y = y' → x'.

Proposition 3.8. Let $(X, \sim, \land, 0, 1)$ be a tense like equality algebra, where X is an involutive lattice. Then, for any $x, y \in X$,

$$H(x \to y) \ge H(x')' \to H(y')'.$$

Proof. For any $x, y \in X$, by Proposition 3.7(iii) and (T1), we have

$$H(x \to y) = H(y' \to x') \ge H(y') \to H(x') = H(x')' \to H(y')'.$$

Definition 3.9. [11] Let $\mathcal{E} = \langle X, \sim, \wedge, 1 \rangle$ be an equality algebra. A subset $D \subseteq X$ is called a *deductive system* of X if, for any $x, y \in X$: (DS₁) $1 \in D$,

(DS₂) if $x \in D$ and $x \leq y$, then $y \in D$,

(DS₃) if $x, x \sim y \in D$, then $y \in D$.

The set of all deductive systems of X is denoted by $\mathcal{DS}(X)$.

Proposition 3.10. [11]Every deductive system of an equality algebra \mathcal{E} is a subalgebra of \mathcal{E} .

Let $(X_A, \sim_A, \wedge_A, 1_A)$ and $(X_B, \sim_B, \wedge_B, 1_B)$ be two equality algebras. A map $f: X_A \to X_B$ is called an *equality-homomorphism*, if for any $x, y \in X_A$,

 $f(x \sim_A y) = f(x) \sim_B f(y)$ and $f(x \wedge_A y) = f(x) \wedge_B f(y)$

A homomorphism between two equality algebras is defined in [18], where the authors are investigated its relation with state morphisms. If the above equality algebras are bounded, then $f(0_A) = 0_B$.

We give the basic properties of bounded equality homomorphisms as follows.

Proposition 3.11. [18]Let $\mathcal{E}_A = (X_A, \sim_A, \wedge_A, 0_A, 1_A)$, $\mathcal{E}_B = (X_B, \sim_B, \wedge_B, 0_B, 1_B)$ be two bounded equality algebras and $f : X_A \to X_B$ be a bounded equality homomorphism. Then the following statements hold:

- (i) $f(1_A) = 1_B$.
- (ii) f is monotone.
- (iii) $f(x \sim_A 0) = f(x) \sim_B 0_B$.
- (iv) ker f is a proper deductive system of X_A .
- (v) $f(X_A)$ is a subalgebra of \mathcal{E}_B .
- (vi) f is injective if and only if ker $f = \{1\}$.
- (vii) if $D_B \in \mathcal{DS}(X_B)$, then $f^{-1}(D_B) \in \mathcal{DS}(X_A)$.
- (viii) if f is surjective and ker $f \subseteq D \in \mathcal{DS}(X_A)$, then $f(D) \in \mathcal{DS}(X_B)$.

By the following theorem, we show that if there exists an equality homomorphism between two equality algebras, it can transfer tense like equality algebras.

Theorem 3.12. Let $\mathcal{E}_A = (X_A, \sim_A, \wedge_A, 0_A, 1_A)$ and $\mathcal{E}_B = (X_B, \sim_B, \wedge_B, 0_B, 1_B)$ be two involutive bounded equality algebras and $f : X_A \to X_B$ be an equality homomorphism. If $(\mathcal{E}_A, G_A, H_A)$ is a tense like equality algebra, then there are mappings $G_B, H_B : f(X_A) \to f(X_A)$ such that $(f(X_A), G_B, H_B)$ is a tense like equality algebra.

Proof. Let $Y = f(X_A)$. By Proposition 3.11(v), Y is a subalgebra of \mathcal{E}_B . Define $G: Y \to Y$ and $H: Y \to Y$, for any $x \in X_A$, by

$$G(f(x)) = f(G_A(x))$$
 and $H(f(x)) = f(H_A(x))$ (3.3)

Since, $f(1_A) = 1_B \in Y$, $G(1_B) = H(1_B) = 1$. Thus, the axiom (T0) holds. Moreover, for any $a, b \in X_A$, we have

$$f(a \to b) = f(a) \to f(b) \tag{3.4}$$

and if $a \leq_A b$, then

$$f(a) \le_B f(b) \tag{3.5}$$

Thus, for any $x, y \in Y$, there are $a, b \in X_A$ such that f(a) = x, f(b) = yand we have

$$G(x \to y) = G(f(a) \to f(b)), \text{ by } (3.4)$$

= $G(f(a \to b)), \text{ by } (3.3)$
= $f(G_A(a \to b)), \text{ by } (3.5)$
 $\geq_B f(G_A(a)) \to f(G_A(b)), \text{ by } (3.3)$
= $G(f(a)) \to G(f(b))$
= $G(x) \to G(y).$

By the similar way, for any $x, y \in Y$, $H(x \to y) \geq_B H(x) \to H(y)$. Hence, (T1) holds. By similar arguments, (T2)-(T4) hold. Now, it is enough to prove (T5). Suppose $x \in Y$. Then there is an element $a \in X_A$ such that f(a) = x and $a \leq H_A G_A(a)$. Thus $f(a) \leq f(H_A G_A(a))$. Hence, for any $x \in Y$, we have

$$x = f(a) \leq_B f(H_A(G_A(a))) = H(f(G_A(a))) = HG(f(a)) = HG(x).$$

Now, we show that G is an involutive operator. Let "'" be a negation on X_A and "-" be a negation on X_B . Suppose $x \in Y$ such that f(a) = x, for

some $a \in X_A$. Then

$$\begin{aligned} G(x^{-}) &= G(f(a)^{-}) = G(f(a) \sim_{B} 0_{B}) \\ &= G(f(a) \sim_{B} f(0_{A})) , \text{ by Proposition 3.11(iii)} \\ &= G(f(a \sim_{A} 0_{A})) \\ &= G(f(a')) , \text{ by (3.3)} \\ &= f(G_{A}(a')) = f(G_{A}(a)') \\ &= f(G_{A}(a) \sim_{A} 0_{A}) , \text{ by Proposition 3.11(iii)} \\ &= f(G_{A}(a)) \sim_{B} f(0_{A}) , \text{ by (3.3)} \\ &= G(f(a)) \sim_{B} 0_{B} = G(x) \sim_{B} 0_{B} \\ &= G(x)^{-}. \end{aligned}$$

Therefore, $(f(X_A), G, H)$ is a tense like equality algebra.

Corollary 3.13. Let $\mathcal{E}_A = (X_A, \sim_A, \wedge_A, 0_A, 1_A)$ and $\mathcal{E}_B = (X_B, \sim_B, \wedge_B, 0_B, 1_B)$ be two involutive bounded equality algebras and $f : X_A \to X_B$ be a surjective equality homomorphism. If $(\mathcal{E}_A, G_A, H_A)$ is a tense like equality algebra, then there are mappings $G, H : X_B \to X_B$ such that (X_B, G, H) is a tense like equality algebra.

Lemma 3.14. Let $\mathcal{E}_A = (X_A, \sim_A, \wedge_A, 0_A, 1_A)$ and $\mathcal{E}_B = (X_B, \sim_B, \wedge_B, 0_B, 1_B)$ be two involutive bounded equality algebras and $f : X_A \to X_B$ be an injective equality homomorphism. Then, for any $x, y \in f(X_A)$, the left inverse of fsatisfies

(i) $f^{-1}(1_B) = 1_A$, (ii) $f^{-1}(x \sim_B y) = f^{-1}(x) \sim_A f^{-1}(y)$, (iii) $f^{-1}(x \to y) = f^{-1}(x) \to_A f^{-1}(y)$, (iv) if $x \leq_B y$, then $f^{-1}(x) \leq_A f^{-1}(y)$.

Proof. The proof is a straightforward.

Theorem 3.15. Let $\mathcal{E}_A = (X_A, \sim_A, \wedge_A, 0_A, 1_A)$ and $\mathcal{E}_B = (X_B, \sim_B, \wedge_B, 0_B, 1_B)$ be two involutive bounded equality algebras and $f : X_A \to X_B$ be an injective equality homomorphism. If $(\mathcal{E}_B, G_B, H_B)$ is a tense like equality algebra, then there are mappings $G, H : X_A \to X_A$ such that (\mathcal{E}_A, G, H) is a tense like equality algebra.

Proof. It is clear that $f(X_A)$ is a subalgebra of X_B . If $(\mathcal{E}_B, G_B, H_B)$ is a tense like equality algebra, then $(f(X_A), G_B, H_B)$ becomes a tense like equality algebra. Now, for any $x \in X_A$, define $G, H : X_A \to X_A$ by

$$G(a) = f^{-1}(G_B(f(a))), \ H(a) = f^{-1}(H_B(f(a))).$$

By Lemma 3.14(i), we have $G(1_A) = H(1_A) = 1$. Thus, (T0) holds. Let $a, b \in X_A$ such that f(a) = x, f(b) = y, $a = f^{-1}(x)$ and $b = f^{-1}(y)$. Then

$$\begin{array}{lll} G(a \to b) &=& f^{-1}(G_B(f(a \to b))) \ , \ \text{by} \ (3.4) \\ &=& f^{-1}(G_B(f(a) \to f(b))), \ \text{by} \ (\text{T1}) \ \text{and} \ \text{Lemma} \ 3.14(\text{iv}) \\ &\geq_A & f^{-1}(G_B(f(a)) \to G_B(f(b))), \ \text{by} \ \text{Lemma} \ 3.14(\text{iii}) \\ &=& f^{-1}(G_B(f(a))) \to f^{-1}(G_B(f(b))), \ \text{by} \ (3.4) \\ &=& G(a) \to G(b). \end{array}$$

Similarly, we can show that for any $a, b \in X_A$, $H(a \to b) \geq_A H(a) \to H(b)$. This follows that (T1) holds. By the similar arguments and Lemma 3.14, (T2)-(T4) hold. Now, suppose $a \in X_A$. Then $f(a) \in f(X_A)$. Since, $(\mathcal{E}_B, G_B, H_B)$ is a tense like equality algebra, by (T5), we get that $f(a) \leq H_B G_B(f(a))$. According to definition of H, for any $a \in f(X_A)$, we have $H(f^{-1}(x)) = f^{-1}(H_B(x))$ such that $a = f^{-1}(x)$. Thus, for any $a \in X_A$;

$$a \leq_A f^{-1}(H_B(G_B(x))) = H(f^{-1}(G_A(f(a)))) = HG(a).$$

Now, we show that G is an involutive operator. Let " '' be negation on X_A and "-" be negation on X_B . Then by Lemma 3.14(ii), we have

$$G(a') = f^{-1}(G_B(f(a')))$$

= $f^{-1}(G_B(f(a \sim_A 0_A)))$
= $f^{-1}(G_B(f(a) \sim_B 0_B))$, by Proposition 3.11(iii)
= $f^{-1}(G_B(f(a)^{-}))$
= $f^{-1}(G_B(f(a))^{-})$
= $f^{-1}(G_B(f(a)) \sim_B 0_B)$, by Lemma 3.14(ii)
= $f^{-1}(G_B(f(a))) \sim_A 0_A$
= $G(a) \sim_A 0_A$
= $G(a)'.$

Therefore, (X_A, G, H) is a tense like equality algebra.

If an equality homomorphism between two equality algebras is injective and surjective, then it is called an *equality isomorphism*.

An immediate result of Corollary 3.13 and Theorem 3.15, is as follows:

Corollary 3.16. Let $\mathcal{E}_A = (X_A, \sim_A, \wedge_A, 0_A, 1_A)$ and $\mathcal{E}_B = (X_B, \sim_B, \wedge_B, 0_B, 1_B)$ be two involutive bounded equality algebras and $f : X_A \to X_B$ be an equality isomorphism. Then $(\mathcal{E}_A, G_A, H_A)$ is a tense like equality algebra if and only if (X_B, G_B, H_B) is a tense like equality algebra.

Proposition 3.17. Let (\mathcal{E}, G, H) be a tense like equality algebra and G(H) is increasing. Then ker $G \in \mathcal{DS}(X)$ (ker $H \in \mathcal{DS}(X)$).

Proof. By (T0), $1 \in \ker G$. Then (DS₁) holds. If $x \in \ker G$ and $x \leq y$, since G is increasing, then $1 = G(x) \leq G(y)$. Thus, G(y) = 1, and so $y \in \ker G$. Hence, (DS₂) holds. Now, suppose $x, x \sim y \in \ker G$. Then, $G(x) = G(x \sim y) = 1$. Since G is increasing, by Proposition 2.3(iii), we have,

$$1 = G(x \sim y) \le G(x \sim (x \land y)).$$

Thus, $G(x \sim (x \wedge y)) = 1$. By Proposition 2.3(iv), $x \leq (x \sim (x \wedge y)) \sim y$. Then

$$1 = G(x) \text{ since } G \text{ is increasing}$$

$$\leq G((x \sim (x \land y)) \sim y) \text{ , by Proposition 2.3(iv) and (T2)}$$

$$\leq G(x \sim (x \land y)) \sim G(y)$$

$$= 1 \sim G(y)$$

$$= G(y).$$

So, G(y) = 1 and $y \in \ker G$. Hence, (DS₃) holds. Therefore, $\ker G \in \mathcal{DS}(X)$.

Corollary 3.18. Let (\mathcal{E}, G, H) be a tense like equality algebra and G(H) is increasing. Then ker G (ker H) is a subalgebra of \mathcal{E} .

Proof. By Propositions 3.10 and 3.17, the proof is clear.

Definition 3.19. [11] Let $\mathcal{E} = \langle X, \sim, \wedge, 1 \rangle$ be an equality algebra. A subset $\Theta \subseteq X \times X$ is called a *congruence* of X if it is an equivalence relation on X and, for any $x_1, y_1, x_2, y_2 \in X$ such that $(x_1, y_1), (x_2, y_2) \in X \times X$, the

following statements hold:

(CG₁) $(x_1 \land x_2, y_1 \land y_2) \in \Theta,$ (CG₂) $(x_1 \sim x_2, y_1 \sim y_2) \in \Theta.$ The set of all congruences of X is denoted by $\mathcal{C}on(X).$

According to the aforementioned arguments, if G and H are (a): linear respect to \sim or (b): are increasing, then ker G, ker $H \in \mathcal{DS}(X)$, and so ker $G \cap \ker H \in \mathcal{DS}(X)$. Let $D_{G,H} = \ker G \cap \ker H$. Then, for any $x, y \in X$, define $\Theta_{D_{G,H}}$ by

$$x\Theta_{D_{G,H}}y$$
 if and only if $x \sim y \in D_{G,H}$

Proposition 3.20. [11] If $D \in \mathcal{DS}(X)$, then $D \in \mathcal{C}on(X)$.

Let $\mathcal{E} = \langle X, \sim, \wedge, 1 \rangle$ be an equality algebra and $D \in \mathcal{DS}(X)$. Denote

$$X/\Theta_D = \{x/\Theta_D : x \in X\},\$$

where $x/\Theta_D = \{y \in X : (x, y) \in \Theta_D\}$. We define the operations \sim, \rightarrow and \wedge on X/Θ_D as

 $x/\Theta_D \sim y/\Theta_D = (x \sim y)/\Theta_D$, $x/\Theta_D \wedge y/\Theta_D = (x \wedge y)/\Theta_D$ $x/\Theta_D \rightarrow y/\Theta_D = (x \rightarrow y)/\Theta_D$.

Theorem 3.21. Let $\mathcal{E} = \langle X, \sim, \wedge, 1 \rangle$ be an equality algebra and $D \in \mathcal{DS}(X)$. Then

$$\mathcal{E}/\Theta_D = \langle X/\Theta_D, \sim, \wedge, 1/\Theta_D \rangle$$

is an equality algebra.

Corollary 3.22. Let $\mathcal{E} = \langle X, \sim, \wedge, 1, 0 \rangle$ be a bounded equality algebra, $D \in \mathcal{DS}(X)$ and $X/\Theta_D = \{x/\Theta_D : x \in X\}$, where $x/\Theta_D = \{y \in X : (x,y) \in \Theta_D\}$. Then $\mathcal{E}/\Theta_D = \langle X/\Theta_D, \sim, \wedge, 1/\Theta_D \rangle$ is a bounded equality algebra.

Proof. By Theorem 3.21, $\mathcal{E}/\Theta_D = \langle X/\Theta_D, \sim, \wedge, 1/\Theta_D \rangle$ is an equality algebra. So it suffices to show that $X/\Theta_D = \{x/\Theta_D : x \in X\}$ is bounded. From $x/\Theta_D \wedge y/\Theta_D = (x \wedge y)/\Theta_D$, for all $x, y \in X$, we have $x/\Theta_D \wedge 0/\Theta_D = (x \wedge 0)/\Theta_D = 0/\Theta_D$. Thus, for all $x \in X, x/\Theta_D \ge 0/\Theta_D$. This means that $\mathcal{E}/\Theta_D = \langle X/\Theta_D, \sim, \wedge, 1/\Theta_D \rangle$ is a bounded equality algebra.

Theorem 3.23. Let $\mathcal{E} = \langle X, \sim, \wedge, 1, 0 \rangle$ be a bounded involutive equality algebra and (\mathcal{E}, G, H) be a tense like equality algebra, where G and H satisfy (a) or (b). Then $\mathcal{E}/\Theta_{D_{G,H}} = \langle X/\Theta_{D_{G,H}}, \sim, \wedge, 1/\Theta_{D_{G,H}} \rangle$ is a bounded involutive equality algebra. Moreover, there are involutive operators $\mathbb{G}, \mathbb{H} : X/\Theta_{D_{G,H}} \to X/\Theta_{D_{G,H}}$ such that $(\mathcal{E}/\Theta_{D_{G,H}}, \mathbb{G}, \mathbb{H})$ is a tense like equality algebra.

Proof. By Theorem 3.21, $\mathcal{E}/\Theta_{D_{G,H}} = \langle X/\Theta_{D_{G,H}}, \sim, \wedge, 1/\Theta_{D_{G,H}} \rangle$ is an equality algebra. Also, define $(x/\Theta_{D_{G,H}})^* = x/\Theta_{D_{G,H}} \sim 0/\Theta_{D_{G,H}}$, for all $x/\Theta_{D_{G,H}} \in X/\Theta_{D_{G,H}}$. Thus, for all $x/\Theta_{D_{G,H}} \in \langle X/\Theta_{D_{G,H}}, \sim, \wedge, 1/D_{G,H} \rangle$,

$$((x/\Theta_{D_{G,H}})^*)^* = (x/\Theta_{D_{G,H}} \sim 0/\Theta_{D_{G,H}})^*$$

$$= ((x \sim 0)/\Theta_{D_{G,H}})^*$$

$$= (x^*/\Theta_{D_{G,H}})^*$$

$$= x^*/\Theta_{D_{G,H}} \sim 0/\Theta_{D_{G,H}}$$

$$= x^{**}/\Theta_{D_{G,H}}$$

$$= x/\Theta_{D_{G,H}}.$$

Hence, $\mathcal{E}/\Theta_{D_{G,H}} = \langle X/\Theta_{D_{G,H}}, \sim, \wedge, 1/D_{G,H} \rangle$ is involutive. Also, for all $x, y \in X$,

$$\begin{aligned} x/\Theta_{D_{G,H}} &\leq y/\Theta_{D_{G,H}} &\Leftrightarrow x/\Theta_{D_{G,H}} \wedge y/\Theta_{D_{G,H}} = x/\Theta_{D_{G,H}} \\ &\Leftrightarrow (x \wedge y)/\Theta_{D_{G,H}} = x/\Theta_{D_{G,H}} \\ &\Leftrightarrow x \wedge y = x \\ &\Leftrightarrow x \leq y. \end{aligned}$$
(3.6)

Define $\mathbb{G}, \mathbb{H}: X/\Theta_{D_{G,H}} \to X/\Theta_{D_{G,H}}$, for all $x/\Theta_{D_{G,H}} \in X/\Theta_{D_{G,H}}$ as

$$\mathbb{G}(x/\Theta_{D_{G,H}}) = G(x)/\Theta_{D_{G,H}} \quad \text{and} \quad \mathbb{H}(x/\Theta_{D_{G,H}}) = H(x)/\Theta_{D_{G,H}}.$$

We show that $(\mathcal{E}/\Theta_{D_{G,H}}, \mathbb{G}, \mathbb{H})$ is a tense like equality algebra. We investigate the axioms (T0)-(T3) only for \mathbb{G} .

(T0) According to the definition of \mathbb{G} , we have

$$\mathbb{G}(1/\Theta_{D_{G,H}}) = G(1)/\Theta_{D_{G,H}} = 1/\Theta_{D_{G,H}}.$$

and similarly $\mathbb{H}(1/\Theta_{D_{G,H}}) = 1/\Theta_{D_{G,H}}.$ (T1) For all $x/\Theta_{D_{G,H}}, y/\Theta_{D_{G,H}} \in X/\Theta_{D_{G,H}},$

$$\begin{split} \mathbb{G}(x/\Theta_{D_{G,H}} \to y/\Theta_{D_{G,H}}) &= \mathbb{G}((x \to y)/\Theta_{D_{G,H}}) \\ &= G(x \to y)/\Theta_{D_{G,H}}, \quad \text{by (3.6) and (T1)} \\ &\geq (G(x) \to G(y))/\Theta_{D_{G,H}} \\ &= G(x)/\Theta_{D_{G,H}} \to G(y)/\Theta_{D_{G,H}} \\ &= \mathbb{G}(x/\Theta_{D_{G,H}}) \to \mathbb{G}(y/\Theta_{D_{G,H}}). \end{split}$$

(T2) For all $x/\Theta_{D_{G,H}}, y/\Theta_{D_{G,H}} \in X/\Theta_{D_{G,H}}$,

$$\begin{aligned} \mathbb{G}(x/\Theta_{D_{G,H}} \sim y/\Theta_{D_{G,H}}) &= \mathbb{G}((x \sim y)/\Theta_{D_{G,H}}) \\ &= G(x \sim y)/\Theta_{D_{G,H}} \quad \text{by (3.6) and (T2)} \\ &\leq (G(x) \sim G(y))/\Theta_{D_{G,H}} \\ &= G(x)/\Theta_{D_{G,H}} \sim G(y)/\Theta_{D_{G,H}} \\ &= \mathbb{G}(x/\Theta_{D_{G,H}}) \sim \mathbb{G}(y/\Theta_{D_{G,H}}). \end{aligned}$$

(T3) For all $x/\Theta_{D_{G,H}}, y/\Theta_{D_{G,H}} \in X/\Theta_{D_{G,H}}$,

$$\mathbb{G}(x/\Theta_{D_{G,H}} \wedge y/\Theta_{D_{G,H}}) = \mathbb{G}((x \wedge y)/\Theta_{D_{G,H}}) \\
 = G(x \wedge y)/\Theta_{D_{G,H}} \text{ by (T3)} \\
 = (G(x) \wedge G(y))/\Theta_{D_{G,H}} \\
 = G(x)/\Theta_{D_{G,H}} \wedge G(y)/\Theta_{D_{G,H}}) \\
 = \mathbb{G}(x/\Theta_{D_{G,H}}) \wedge \mathbb{G}(y/\Theta_{D_{G,H}}).$$

(T4) For all $x/\Theta_{D_{G,H}} \in X/\Theta_{D_{G,H}}$,

$$\mathbb{H}(\mathbb{G}(x/\Theta_{D_{G,H}})) = \mathbb{H}(G(x)/\Theta_{D_{G,H}})$$

= $H(G(x))/\Theta_{D_{G,H}}$, by (3.6) and (T4)
 $\geq x/\Theta_{D_{G,H}}.$

Finally, we show that $\mathbb G$ is an involutive operator. For all $x/\Theta_{D_{G,H}} \in$

 $X/\Theta_{D_{G,H}},$

$$\mathbb{G}((x/\Theta_{D_{G,H}})^*) = \mathbb{G}(x^*/\Theta_{D_{G,H}})
= G(x^*)/\Theta_{D_{G,H}}
= G(x)^*/\Theta_{D_{G,H}}
= (G(x) \sim 0)/\Theta_{D_{G,H}}
= G(x)/\Theta_{D_{G,H}} \sim 0/\Theta_{D_{G,H}}
= (G(x)/\Theta_{D_{G,H}})^*
= \mathbb{G}(x/\Theta_{D_{G,H}})^*.$$

Hence, $(\mathcal{E}/\Theta_{D_{G,H}}, \mathbb{G}, \mathbb{H})$ is a tense like equality algebra.

4 Relation between tense like equality algebras and tense MV-algebras

In this section, we show that there is a connection between tense MValgebras and tense like equality algebras.

In [17], the authors showed that there is a connection between equality algebras and MV-algebras as follows.

Theorem 4.1. [17] The following two statements hold:

(i) For any MV-algebra $\mathcal{B} = (B, \oplus, -, 0)$, $\Psi(\mathcal{B}) = (B, \leftrightarrow, \wedge, 0, 1)$ is a bounded commutative equality algebra, where \rightarrow and the top element 1 are defined by, $x \rightarrow y = x^- \oplus y$ and $1 = 0^-$, for all $x, y \in X$. Moreover, the equivalence operation \leftrightarrow is defined by $x \leftrightarrow y = (x \rightarrow y) \land (y \rightarrow x)$ and $x \rightarrow y = x \leftrightarrow (x \land y)$.

(ii) For any bounded commutative equality algebra $\mathcal{E} = \langle X, \sim, \wedge, 0, 1 \rangle$, $\Phi(\mathcal{E}) = (X, \oplus, 0)$ is an MV-algebra, where the operations \oplus and $^-$ defined by, $x \oplus y = x' \to y, x^- = x'$ and \to denotes the implication of \mathcal{E} , for all $x, y \in X$.

Definition 4.2. [12] Let $(X, \oplus, -, 0, 1)$ be an MV-algebra and $G, H : X \to X$ two unary operations on A. The structure (X, G, H) is called *tense* MValgebra if, for any $x, y \in X$, the following conditions are satisfied: (A0) G(1) = 1 and H(1) = 1, (A1) $G(x \to y) \leq G(x) \to G(y)$ and $H(x \to y) \leq H(x) \to H(y)$, where

 $x \to y$ is defined by $x^- \oplus y$,

(A2) $G(x) \oplus G(y) \le G(x \oplus y)$ and $H(x) \oplus H(y) \le H(x \oplus y)$,

(A3) $G(x) \oplus G(x) = G(x \oplus x)$ and $H(x) \oplus H(x) = H(x \oplus x)$,

(A4) $x \leq GP(x)$ and $x \leq HF(x)$ where P and F are the unary operations of X defined by $Fx = (Gx^{-})^{-}$ and $Px = (Hx^{-})^{-}$,

(A5) $F(x) \oplus F(x) = F(x \oplus x)$ and $P(x) \oplus P(x) = P(x \oplus x)$.

In axioms (A1), (A2) and (A5), if we replace = by \leq , we call (X, G, H) an equality tense MV-algebra.

Proposition 4.3. [12, Proposition 5.1] The following statements hold in any tense MV-algebra (X, G, H),

(i) if $x \leq y$, then $G(x) \leq G(y)$, $H(x) \leq H(y)$, $F(x) \leq F(y)$ and $P(x) \leq P(y)$,

(ii)
$$G(x \to y) \le F(x) \to F(y)$$
 and $H(x \to y) \le P(x) \to P(y)$,

(iii)
$$G(x) \odot G(y) \le G(x \odot y)$$
 and $H(x) \odot H(y) \le H(x \odot y)$,

- (iv) $F(x \oplus y) \leq F(x) \oplus F(y)$ and $P(x \oplus y) \leq P(x) \oplus P(y)$,
- (v) $G(x \lor y) \le F(x) \lor G(y)$ and $H(x \lor y) \le P(x) \lor H(y)$,
- (vi) $G(x \odot x) = G(x) \odot G(x)$ and $H(x \odot x) = H(x) \odot H(x)$,
- (vii) $F(x \odot x) = F(x) \odot F(x)$ and $P(x \odot x) = P(x) \odot P(x)$,
- (viii) $x \odot F(y) \le F(P(x) \odot y)$,
- (ix) $PG(x) \le x$ and $FH(x) \le x$,
- (x) PGP = P, GPG = G, HFH = H and FHF = F,
- (xi) G and H preserve the arbitrary infima, whenever they exist,
- (xii) F and P preserve the arbitrary suprema, whenever they exist.

Corollary 4.4. Let (X, G, H) be a tense MV-algebra such that G and H are involutive operators. Then H is the inverse map of G.

Proof. Suppose G and H are involutive operators, that is, $G(x^-) = G(x)^$ and $H(x^-) = H(x)^-$, for any $x \in X$. Then by (A4), we have G = F, H = P, $x \leq GH(x)$ and $x \leq HG(x)$, for any $x \in X$. On the other hand, by Proposition 4.3(ix), $PG(x) \leq x$ and $FH(x) \leq x$, for any $x \in X$. Thus, HG(x) = GH(x) = x, for any $x \in X$.

Theorem 4.5. Let (\mathcal{E}, G, H) be a commutative tense like equality algebra and $\Phi(\mathcal{E}) = (X, \oplus, -, 0)$ be its corresponding MV-algebra. If H is involutive and $G((H(x))) \ge x$, for any $x \in X$, then $(\Phi(\mathcal{E}), G, H)$ is a tense MValgebra, where the operations \oplus and - defined by $x \oplus y = x' \to y$, $x^- = x'$ and \to denotes the implication of \mathcal{E} . *Proof.* By Theorem 4.1, $(X, \oplus, -, 0, 1)$ is an MV-algebra. We investigate the axioms (A0)-(A5) for G. Clearly, the axiom (A0) holds. Then by (T1), for any $x, y \in X$ we have,

$$G(x \to y) = G(x^- \oplus y) = G(x' \oplus y) = G(x \sim y) \ge G(x) \to G(y).$$

On the other hand, for any $x, y \in X$ we have,

$$G(x \to y) = G(x \sim (x \land y)), \text{ by (T2)}$$

$$\leq G(x) \sim G((x \land y))$$

$$= G(x) \sim (G(x) \land G(y))$$

$$= G(x) \to G(y).$$

Thus, (A1) holds. Moreover, for any $x, y \in X$, we have

$$G(x \oplus y) = G(x' \to y) , \text{ by (T1)}$$

$$\geq G(x') \to G(y)$$

$$= G(x')' \oplus G(y)$$

$$= G(x) \oplus G(y).$$

Thus, (A2) holds. Also, for any $x \in X$, we have

$$G(x \oplus x) = G(x^- \to x)$$

$$\leq G(x^-) \to G(x)$$

$$= G(x)' \to G(x)$$

$$= G(x) \oplus G(x).$$

Hence, we have (A3). Since G is involutive, we can take G = F. This implies that the axioms (A4) and (A5) hold for G. Similarly, we can show that (A0)-(A5) hold for H, where we can suppose that H = P.

Theorem 4.6. Let $\mathcal{X} = (X, \oplus, -, 0, 1)$ be an MV-algebra and (X, G, H)be a tense MV-algebra such that G and H are involutive operators. Then $(\Psi(\mathcal{X}), G, H)$ is a bounded tense like equality algebra, where $\Psi(\mathcal{X}) = (X, \wedge, \leftrightarrow, 0, 1)$, and for any $x, y \in X$, define the operations \leftrightarrow and \rightarrow as

$$x \leftrightarrow y = (x \rightarrow y) \land (y \rightarrow x), x \rightarrow y = x \leftrightarrow (x \land y) and \ x \rightarrow y = x^- \oplus y.$$

Proof. According to Theorem 4.1, $\Psi(\mathcal{X}) = (X, \wedge, \leftrightarrow, 0, 1)$ is a bounded involutive equality algebra. So it is clear that (T0) holds. Also, for any $x, y \in X$, we have

$$G(x \to y) = G(x^- \oplus y)$$

$$\geq G(x^-) \oplus G(y) , \text{ by (A2)}$$

$$= G(x)^- \oplus G(y)$$

$$= G(x) \to G(y).$$

Then (T1) holds. Moreover, for any $x, y \in X$, by Proposition 4.3(i), we have

$$G(x \leftrightarrow y) = G((x \rightarrow y) \land (y \rightarrow x))$$

$$\leq G(x \rightarrow y)$$

$$\leq G(x) \rightarrow G(y). \text{ by (A1)}, \quad (4.1)$$

Similarly, for any $x, y \in X$, we have

$$G(x \leftrightarrow y) \le G(y) \to G(x). \tag{4.2}$$

Thus, (T2) holds. Clearly, we have $G(x \wedge y) \leq G(x) \wedge G(y)$, for any $x, y \in X$. Then by Proposition 4.3(iv),

$$\begin{array}{lcl} G(x \wedge y) &=& G(x \odot (x^- \oplus y)) \\ &\geq& G(x) \odot G(x^- \oplus y) \\ &\geq& G(x) \odot (G(x^-) \oplus G(y)) \ , \ \text{by (A2)} \\ &=& G(x) \odot (G(x)^- \oplus G(y)) \\ &=& G(x) \wedge G(y). \end{array}$$

Hence, (T3) holds. Similarly, we can see that (T1)-(T3) hold, for H and (T4) holds by Corollary 4.4. Therefore, $(\Psi(\mathcal{X}), G, H)$ is a bounded tense like equality algebra.

5 Conclusion

In this paper, we have considered equality algebras, introduced involutive operators and tense like equality algebras. We investigated relations between these new notions with the notion of tense MV-algebras. Defining involutive operators on other logical algebras such as hoop algebras and considering these algebras as tense like algebras could be topics for our next task.

Acknowledgement

The authors are very indebted to the editor and anonymous referees for their careful reading and valuable suggestions which helped to improve the paper and its readability. This research is supported (for the first author) by a grant of National Natural Science Foundation of China (11971384).

References

- Borzooei, R.A., Zarean, M. and Zahiri, O., *Involutive equality algebras*, Soft Computing 22 (2018), 7505-7517.
- [2] Borzooei, R.A., Zebardast, F. and Aaly Kologani, M., Some types of filters in equality algebras, Categ. General Alg. Struct. Appl. 7 (2017), 33-55.
- [3] Botur, M., Chajda, I., Halaš, H. and Kolařík, M., Tense operators on basic algebras, Internat. J. Theoret. Phys. 50 (2011), 3737-3749.
- [4] Botur, M. and Paseka, J., On tense MV-algebras, Fuzzy Sets and Systems, 259 (2015), 111-125.
- [5] Burges, J., "Basic tense logic", in D.M. Gabbay, F. Gunther (Eds), Handbook of Philosophical Logic II, D. Reidel Publ. Comp., 1984.
- [6] Chajda, I. and Kolařík, M., Dynamic effect algebras, Math. Slovaca 62(3) (2012), 379-388.
- [7] Chang, C.C., Algebraic analysis of many valued logics, Trans. Amer. Math. Soc. 88 (1958), 467-490.
- [8] Chirită, C., Tense θ-valued Moisil propositional logic, Int. J. Compute, Commun. Control 5 (2010), 642-653.
- [9] Cignoli, R., D'Ottaviano, I. and Mundici, D., "Algebraic Foundations of Manyvalued Reasoning, in: Trends in Logic" 7, Kluwer Academic Publishers, 2000.
- [10] Ciungu, L.C., On pseudo-equality algebras, Arch. Math. Logic 53 (2014), 561-570.
- [11] Ciungu, L.C., Internal states on equality algebras, Soft Computing 19 (2015), 939-953.

- [12] Diaconescu, D. and Georgescu, G., Tense operators on rm MV-algebras and LM_nalgebras, Fund. Inform. 81 (2007), 379-408.
- [13] Jenei, S., Equality algebras, Studia Logica 100 (2012), 1201-1209.
- [14] Jenei, S. and Kóródi, L., Pseudo equality algebras, Arch. Math. Logic 52 (2013), 469-481.
- [15] Moisil, G.C., Recherches sur les logiques non-chrysippiennes, Annates scientifiques de l'Université Jassy, première section 26 (1940), 431-466.
- [16] Novák, V. and De Baets, B., EQ-algebras, Fuzzy Sets and Systems 160 (2009), 2956-2978.
- [17] Zebardast, F., Borzooei, R.A. and Aaly Kologani, M., *Results on equality algebras*, Inform. Sci. 381 (2017), 270-282.
- [18] Zarean, M., Borzooei, R.A. and Zahiri, O., On state equality algebras, Quasigroups Related Systems 25 (2017), 307-326.

Mohammad Ali Hashemi M.A. Hashemi, Department of Mathematics, Payame Noor University, P.O.Box 19395-3697, Tehran, Iran. Email: ali1978hashemi@gmail.com

Rajab Ali Borzooei R.A. Borzooei, Department of Mathematics, Shahid Beheshti University, Tehran, Iran.

 $Email:\ borzooei@sbu.ac.ir$